REMAINING SERVICE LIFE

Introduction

» RSL: definition
» Analysis
- Step 1: determine RSL for each pavement
section
- Step 2: examine how RSL distribution in
networ k can be changed

Defining RSL Categories

. Category |: RSL=0
 Category I1: O<RSL£5
. Category I11:  5<RSL £ 10

» Category 1 V: 10<RSL £15
 Category V: 15<RSL

Instructional Objectives

» Concept of remaining servicelife

» How remaining servicelifeisused and its
importance

» How remaining lifeis calculated

Developing an RSL Analysis

» Definethreshold values

» Develop condition indices

» Develop performance curves
» Define RSL categories

» Define RSL cost matrix

» Define RSL construction effort
matrix

Example RSL Cost Matrix

FROM\TO | Category I_| Category Il | Category Ill_| Category IV_] Category V.
Category | MI$ Cl-II$ Cl-Il$ Cl-IV$ Cl-V$
Category I1 n/a MII$ Cl-Il$ Cl-IV$ Cl-Vs$
Category I11 n/a n/a MIS Clll-IV$ CllI-VS
Category IV n/a n/a n/a MIVS CIV-V$
Category V. n/a n/a n/a n/a MV$




Example Construction Effort Matrix

FROM\TO | Category | | Category Il | Category I1l_| Category IV_| Category V.
Category | nia El-Il El-lII El-IV ElI-V
Category |1 n/a n/a Ell-111 Ell-IV. Ell-V
Category 111 n/a n/a n/a Elll-IV Elll-V
Category IV nla nia nla nla EIV-V
Category V. nia n/a nia nia nia

Calculating the RSL for a Pavement Section

Threshold _| _

Value

Condition Index

Current Condition

i

Unserviceable | |

-

| Remaining Service Life |

i i

i i
i

Now Time (vears)

Calculating the Future RSL

% of lane-milesin each RSL Category
Now | Next Year After 5 years | After 10 years
Category | 10 15 (= 10 + 25/5) 35 65
Category I 25 26 (= 25 - 25/5 + 30/5) | 30 25
Category I11_| 30 29 (=30-30/5 + 25/5) | 25 10
Category IV_| 25 22 (= 25-25/5+10/5) | 10 0
Category V 10 8 (= 10 - 10/5) 0 0

The RSL Analysis

» Calculate RSL for each section

» Show RSL distribution on network

» Predict future RSL distribution

» Apply different levels of effort and examine

effectson future RSL distribution

RSL Distribution
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Example Future RSL Distribution

» Assumethecell ‘Ell-V’ equals10in
the Construction Effort Matrix

% of lane-milesin each RSL
Category

Now | Next Year
Category | 10 13 (= 10 + 15/5)
Category 11 25 18 (= 25 - 15/5 + 30/5 - 10)
Category I11_| 30 29 (= 30 - 30/5 + 25/5)
Category IV_| 25 22 (= 25 - 25/5 + 10/5)
Category V 10 18 (= 10 - 10/5 + 10)




Practical Considerations

» RSL rdliability isfunction of
reliability of condition survey and
performance curves

» FutureRSL distributionsare
network level not project level

5-Year Analysis

Instructional Objectives

» Concept of remaining servicelife

» How remaining servicelifeisused and its
importance

» How remaining lifeis calculated

Future Trends

» Sophisticated PM S*“carriesalong”
RSL calculations with life-cycle cost

» RSL distribution aresult of PMS
analysis

Summary

«» Definition - RSL
» RSL Analysis Requirements
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